10. Taylor expansion (4/11/2024)

Goals.

- (1) Review: Linear approximation
- (2) Higher order approximation
- (3) Manipulating expansions

Last Time. Optimization

Linear approximation: we can approximate f near a by f(x) = f(a) + f'(a)(x-a)

eachier lecture:

(1) from this get f'(a)

(2) given f'(a) find
approximate f(n)

Today: improve this with higher-order terms

(worksheet available at https://personal.math.ubc.ca/~lior/teaching/2425/100 F24/#schedule)

Math 100A – WORKSHEET 10 TAYLOR EXPANSION

1. TAYLOR EXPANSION

(1) (Review) Use linear approximations to estimate:

(a) $\log \frac{4}{3}$ and $\log \frac{2}{3}$. Combine the two for an estimate of $\log 2$.

Think of
$$f(x) = \log x$$
, want $f(\frac{2}{3})$, $f(\frac{4}{3})$ notice $\frac{2}{3}$, $\frac{2}{3}$ close to $\alpha = 1$

Have $f'(x) = \frac{1}{x}$, so $f(1) = \log 1 = 0$, $f'(1) = \frac{1}{1} = 1$, for $x \text{ near } 1$, $f(x) = 0 + 1 \cdot (x - i) = (x - 1)$.

So $f(\frac{2}{3}) \neq (\frac{2}{3} - i) = -\frac{1}{3}$, $f(\frac{4}{3}) = (\frac{4}{3} - i) \neq \frac{1}{3}$.

(b) $\sin 0.1$ and $\cos 0.1$.

(Sino) $= \cos \theta$, $(\cos \theta) = -\sin \theta$ $(\cos 2 = \cos \frac{4}{2/3} = \log \frac{4}{3} - \log \frac{3}{3} = \log \frac{4}{3} - \log \frac{4}{3} = \log \frac{4}{3} - \log \frac{4}{3}$

Date: 6/11/2024, Worksheet by Lior Silberman. This instructional material is excluded from the terms of UBC Policy 81.

can la constant

Discussion, further example.

- That does it mean that f(x) = f(a) + f'(a)(x-a)?
 - of f(w) x +(a) as x-a encondes continuity
 - I linear term expresser asymptotics of f(x) f(a) or $x \to a$
 - = "Perror" f(x) (f(a) + f'(a)(x-a))decay faster that x-a as x > a

Problem: find lim ax $tan(\frac{b}{x})$ (9,270)

Solution: as $x \to \infty$ ax $tan(\frac{b}{x})$ (9,270)

Solution: as $x \to \infty$ ax $tan(\frac{b}{x})$ for $tan(\frac{b}{x}) \to 0$ At a = 0, $tan(\frac{b}{x}) \to 0$, $tan(\frac{b}{x}) = tan(\frac{b}{x}) = tan(\frac{b}{x}$

- (2) Let $f(x) = e^x$
 - (a) Find $f(0), f'(0), f^{(2)}(0), \cdots$
 - (b) Find a polynomial $T_0(x)$ such that $T_0(0) = f(0)$.
 - (c) Find a polynomial $T_1(x)$ such that $T_1(0) = f(0)$ and $T'_1(0) = f'(0)$.
 - (d) Find a polynomial $T_2(x)$ such that $T_2(0) = f(0)$, $T'_2(0) = f'(0)$ and $T_2^{(2)}(0) = f^{(2)}(0)$.
 - (e) Find a polynomial $T_3(x)$ such that $T_3^{(k)}(0) = f^{(k)}(0)$ for $0 \le k \le 3$.

(a)
$$f'(x) = e^{x}$$
, $f^{(2)}(x) = e^{x}$, $f^{(3)}(x) = e^{x}$...
80 $f(0) = f'(0) = f^{(2)}(0) = f^{(3)}(0) = ... = 1$
(b) $f(x) \neq 1$; Take $T_0(x) = 1$

Then Tr(0) = a want Tr(0) = 1 so take ast were Tr(0) = b want Tr(0) = 1, so take b=1.

Need $a = \tau_2(0) = f(0) = 1$, $\tau_2(x) = b + 2cx$

80 Med 6 = Te'(0) = f'(0) =1

Ako T2"(x) = 2c 80 noed C= & to set 72"(0)=1

(a) Try
$$T_3(x) = 1 + x + \frac{1}{2}x^2 + dx^3$$

Then $T_3(0) = 1$ $\sqrt{2}$
 $T_3'(x) = 1 + x + 3dx^2; T_3'(0) = 1$ $\sqrt{2}$
 $T_3''(x) = 1 + 6dx; T_3''(0) = 1$ $\sqrt{2}$
 $T_3''(x) = 6d$; to get $T_3^{(2)}(0) = 1$
Need $d = \frac{1}{6}$
 $T_3(x) = 1 + \frac{1}{2}x + \frac{1}{6}x^3$
 $6 = 12.3. = 31$

Kemark here: if we keep going,
the coeff of xk will be 1.23....k

Call 1.2....k "k factorial"

Write k!

(3) Do the same with $f(x) = \log x$ about x = 1.

To 3rd order at
$$x=1$$
,
 $(09 \times 3 \times (x-1) - \frac{1}{2}(x-1)^2 + \frac{1}{3}(x-1)^3$

Examine calc:

we want $T_n(a) = f(a)$ so that's constant term

see: 1/th term 1s

$$\frac{f^{(k)}(a)}{k!}(x-a),$$

Key fact: $f(n) = T_n(x)$ in sense that as $x \to a$, $f(x) - T_n(x) < (x-a)^n$

Let
$$c_k = \frac{f^{(k)}(a)}{k!}$$
. The *n*th order Taylor expansion of $f(x)$ about $x = a$ is the polynomial

$$T_n(x) = c_0 + c_1(x - a) + \dots + c_n(x - a)^n$$

(4) \star Find the 4th order MacLaurin expansion of $\frac{1}{1-x}$ (=Taylor expansion about x = 0)

$$\begin{array}{lll}
(x) &= \frac{1}{1-x} = (1-x)^{-1}; f(0) = 1 \\
f'(x) &= 1(1-x)^{-2} \\
f^{(0)}(x) &= 1 \cdot 2 \cdot 2 \cdot (1-x)^{-3} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f^{(3)}(x) &= 1 \cdot 2 \cdot 3 \cdot 4 \cdot (1-x)^{-4} \\
f$$

$$\mathcal{T}_{4}(x) = 1 + 1 \cdot x + \frac{1 \cdot 2}{2 \cdot x} \cdot x^{2} + \frac{1 \cdot 2 \cdot 3}{31} x^{2} + \frac{1 \cdot 2 \cdot 34}{41} x^{4} \\
= 1 + x + x^{2} + x^{3} + x^{4}.$$

Maclaurin expansion = Taylor exp. about x=0

(5) Find the *n*th order MacLaurin expansion of $\cos x$, and approximate cos 0.1 using the 3rd order expan-

sion let f(x)= cos x. Then f'(x)=-sin x f(x) = - Co3 x 1 f(3)(x) = Sin x f^(a)(x) = cos x so repeat from how on

=> f(o)=1, f'(o)=0, f'(o)=-1, f 3)(o)=0, repeat.

 $= \frac{1}{4!} \times \frac{1}{4!} \times \frac{4}{6!} \times \frac{1}{8!} \times \frac{8}{4!} \times \frac{1}{4!} \times \frac{1}{4!$ Cos $0,1 + 1 - \frac{1}{2} \cdot (0,1)^2 = \frac{199}{200}$

Facts nth order expansion is $f(a) + f'(a) (x-a) + ... + f^{(n)}(a) (x-a)^n$ Common arrors: Donly writing n'th order term. ("non linear line") using f(x) where we want $f^{(k)}(a)$ not tryo: log x = 0+ = (x-1) logl Correct (h3x) Instead of Sanitar Check: Value at a=] is what we wrote a poly homial of degree n?

e" + 1+ u+ 1; u2+ 1; u3+ 1; u4+... log x + (x-1) - 1 (x-1)2+ 1 (x-1)3 + (x-1)3+ (x-1)4. log (17a) & u - 1 u2 + 1 u3 - 1 u4 ... 1-11 3 | + U + U² + U³ + U⁹ + . - $\cos \phi \sin 1 - \frac{1}{2!} \phi^2 + \frac{1}{4!} \phi^4 - \frac{1}{4!} \phi^5 = \dots$ Memonse!

(6) (Final, 2015) Let $T_3(x) = 24 + 6(x-3) + 12(x-3)^2 + 4(x-3)^3$ be the third-degree Taylor polynomial of some function f, expanded about a = 3. What is f''(3)?

Since $\frac{f''(3)}{21} = 12$, f''(3) = 24. Common array $f''(3) \neq 12$

(7) In special relativity we have the formula $E = \frac{mc^2}{\sqrt{1-v^2/c^2}}$ for the kinetic energy of a moving particle. Here m is the "rest mass" of the particle and c is the speed of light. Examine the behaviour of this formula for small velocities by expanding it to second order in the small parameter $x = v^2/c^2$. What is the 4th order expansion of the energy? Do you recognize any of the terms?

$$E(x) = mc^{2}(1-x)^{-\frac{1}{2}}, x = \sqrt{2}/c^{2}$$

$$E'(x) = \frac{1}{2}mc^{2}(1-x)^{-\frac{1}{2}/2}; E''(x) = \frac{1}{4}mc^{2}(1-x)^{-\frac{1}{2}/2}$$
So $E(0) = mc^{2}, E'(0) = \frac{1}{2}mc^{2}, E''(0) = \frac{3}{4}mc^{2}$
So to 2^{nd} order $E(x) = mc^{2} + \frac{1}{2}mc^{2} \cdot x + \frac{3}{2}mc^{2}x^{2}$
The 3^{nd} order in x

80 $E(0) = mc^{2} + \frac{1}{2}mc^{2} \cdot \frac{1}{2} + \frac{3}{2}mc^{2} \cdot \frac{1}{2} + \frac{3}{2}mc^{2}x^{2}$

$$E''(x) = \frac{1}{2}mc^{2}(1-x)^{-\frac{1}{2}/2}; E''(x) = \frac{3}{4}mc^{2}(1-x)^{-\frac{1}{2}/2}$$
So $E(0) = mc^{2}, E'(0) = \frac{1}{2}mc^{2}, E''(0) = \frac{3}{4}mc^{2}$

$$E''(x) = \frac{1}{4}mc^{2}(1-x)^{-\frac{1}{2}/2}; E''(x) = \frac{3}{4}mc^{2}(1-x)^{-\frac{1}{2}/2}$$
So $E(0) = mc^{2}, E''(0) = \frac{1}{4}mc^{2}, E''(0) = \frac{3}{4}mc^{2}$

$$E''(x) = \frac{1}{4}mc^{2}(1-x)^{-\frac{1}{2}/2}; E''(x) = \frac{3}{4}mc^{2}(1-x)^{-\frac{1}{2}/2}; E''(0) = \frac{3}{4}mc^{2}$$

$$E''(x) = \frac{1}{4}mc^{2}(1-x)^{-\frac{1}{2}/2}; E''(x) = \frac{3}{4}mc^{2}(1-x)^{-\frac{1}{2}/2}; E''(0) = \frac{3}{4}mc^{2}$$

$$E''(x) = \frac{1}{4}mc^{2}(1-x)^{-\frac{1}{2}/2}; E''(x) = \frac{3}{4}mc^{2}(1-x)^{-\frac{1}{2}/2}; E''(0) = \frac{3}{4}mc^{2}$$

$$E''(x) = \frac{1}{4}mc^{2}(1-x)^{-\frac{1}{2}/2}; E''(0) = \frac{3}{4}mc^{2}(1-x)^{-\frac{1}{2}/2}; E''(0) = \frac{3}{4}mc^{2}$$

$$E''(x) = \frac{3}{4}mc^{2}(1-x)^{-\frac{1}{2}/2}; E''(0) = \frac{3}{4}mc^{2}$$

$$E''(x) = \frac{3}{4}mc^{2}, E''(0) = \frac{3}{4}mc^{2}, E''(0) = \frac{3}{4}mc^{2}$$

$$E''(x) = \frac{3}{4}mc^{2}, E''(x) = \frac{3}{4}mc^{2}, E''(x) = \frac{3}{4}mc^{2}$$

$$E''(x) = \frac{3}{4}mc^{2}, E''(x) = \frac{3}{4}mc^{2}, E''(x) = \frac{3}{4}mc^{2}, E''(x) = \frac{3}{4}mc^{2}, E''(x) = \frac{3}$$

2. New expansions from old

Near
$$u = 0$$
:
$$\frac{1}{1-u} = 1 + u + u^2 + u^3 + u^4 \cdots$$

$$\exp u = 1 + \frac{1}{1!}u + \frac{1}{2!}u^2 + \frac{1}{3!}u^3 + \frac{1}{4!}u^4 + \cdots$$

$$\log(1+u) = u - \frac{u^2}{2} + \frac{u^3}{3} - \frac{u^4}{4} + \frac{u^5}{5} - \cdots$$

$$\sin u = u - \frac{1}{3!}u^3 + \frac{1}{5!}u^5 - \frac{1}{7!}u^7 + \cdots$$

$$\cos u = 1 - \frac{1}{2!}u^2 + \frac{1}{4!}u^4 - \frac{1}{6!}u^6 + \cdots$$

(8) (Final, 2016) Use a 3rd order Taylor approximation to estimate $\sin 0.01$. Then find the 3rd order Taylor expansion of $(x + 1) \sin x$ about x = 0.

To 3rd order sin
$$0 \neq 0 - \frac{1}{6}0^3$$

So $\sin \frac{1}{100} \times \frac{1}{100} - \frac{1}{6 \cdot 106}$.

Know $x - \frac{1}{6}x^3$ is close to $\sin x$ is x small $(3\pi d - \text{order close})$
 $1 + x$ is close to $1 + x$

So $(1 + x)(x - \frac{1}{6}x^3)$ is close to $(1 + x)\sin x$.

To 3^{10} order in x ,

 $(x + 1) \sin x \approx (1 + x)(x - \frac{1}{6}x^3) \approx x + x^2 - \frac{1}{6}x^3 - \frac{1}{6}x^3$

Can multiply to add expansions (work to desired order)

(9) Find the 3rd order Taylor expansion of $\sqrt{x} - \frac{1}{4}x$ about x = 4.

(10) Find the 8th order expansion of $f(x) = e^{x^2} - \frac{1}{1+x^3}$. What is $f^{(6)}(0)$?

80 to 7th order in x

$$e^{\chi^2} + 1 + \chi^2 + \frac{1}{2} \chi^4 + \frac{1}{6} \chi^6 + \frac{1}{24} \chi^8$$
 $\frac{1}{1+\chi^3} = 1 + (-\chi)^3 + (-\chi)^2 \cdot 2 \cdot 1 - \chi^3 + \chi^6$

usel $V = -\chi^3$

81
$$e^{\chi^2} - \frac{1}{1+\chi^3} e^{-\chi^2} + \chi^2 + \frac{1}{2} \chi^4 - \frac{5}{6} \chi^6 + \frac{1}{29} \chi^8$$
80 $f^{(6)}(0) = -5/6$ 80 $f^{(6)}(0) = -5 \cdot \frac{61}{6} = -600$

(11) Find the quartic expansion of $\frac{1}{\cos 3x}$ about x = 0.

(dea; as x-no, cos(3 x)->1

80 this is $\frac{1}{1+(0.52x-1)} = \frac{1}{1-(1-(0.52x))}$ (a) approx cos 3x to 9th order (usin, approx for cosp)

(2) find v to use in $\frac{1}{1-v}$ --

(12) (Change of variable/rebasing polynomials)

(a) Find the Taylor expansion of the polynomial x^3-x about a=1 using the identity x=1+(x-1).

$$\chi^{2}_{-X} = (1 + (x - 1))^{3} + (1 + (x - 1))$$

$$= 1 + 3(x - 1) + 3(x - 1)^{2} + (x - 1)^{3} - 1 - (x - 1)$$

$$= 2(x - 1) + 3(x - 1)^{2} + (x - 1)^{3}$$

(b) Expand e^{x^3-x} to third order about a=1.

Know
$$e^{4} + 1 + u + \frac{1}{2}u^{2} + \frac{1}{6}u^{3} + \frac{1}{10} = 3^{7/3}$$
 order, use $u = 2(x-1) + 3(x-1)^{2} + (x-1)^{3}$

(15) (2023 Piazza @389) Find the asymptotics as $x \to \infty$ (a) $\sqrt{x^4 + 3x^3} - x^2$ Notice: x9-3x3, x4 as x-100 80 UX4 +3 NZ 21 X4 0 XZ MLONE: 1x3+3x2-X3V X-K5=0 notice Catastrophic cancellation V2-3×3-×2: X2 (11+3 -1) extract osymptotics $(b) \sqrt[3]{x^6 - x^4} - \sqrt{x^4 - \frac{2}{3}x^2}$ $3/x \rightarrow 0$ Small to 1st order, N+n's 1+ ±u 80 VIAN -1 5 24 80 V[33/-1 N] 3 80 VX9+3x3 - x2 ~ X2. 3x ~ 3x

What about 3/x6-X4 - VX4- 3 X2 $= \chi^{2} \left(\sqrt[3]{|-\frac{1}{x^{2}}|} - \sqrt{|-\frac{2}{3}|} \frac{1}{x^{2}} \right)$ to 1st order in u (1+4)2×1+34, /144)31+34 (1- 2/3 /2) = - 3/2 (1- 2/3 /2) to 2nd order, (1+4) = 1+54-102 112 (1+4) 1/3 = 1+ = 9 - = 1 u2 $(1-\frac{2}{3}\frac{1}{k^2})^{1/2} \times 1-\frac{1}{3}\frac{1}{k^2}-\frac{1}{18}\frac{1}{k^4}$ 80 3 - 7 x x2 (diff) x x2 (-1+x4) 5-12x2.

(16) Evaluate
$$\lim_{x\to 0} \frac{e^{-x^2/2} - \cos x}{x^4}$$
.

To
$$q^{\text{th}}$$
 order, $e^{4} \neq |+ 4 + \frac{1}{5} ||^{2}$
 $e^{(-x/42)} = |-\frac{x^{2}}{2} + \frac{1}{7} ||^{4} + \frac{1}{7} ||^{4}$
 $cop x \neq |-\frac{x^{2}}{2} + \frac{1}{24} ||^{4} ||^{4}$
So $e^{-x/42} = cop x \neq \frac{1}{12} ||^{4} ||^{4} ||^{4} ||^{4}$
 $e^{-x/42} = cop x \neq \frac{1}{12} ||^{4} ||^{4} ||^{4} ||^{4}$
So $e^{-x/42} = cop x \neq \frac{1}{12} ||^{4} ||^{4} ||^{4} ||^{4}$
So $e^{-x/42} = cop x \neq \frac{1}{12} ||^{4} ||^{4} ||^{4} ||^{4}$
So $e^{-x/42} = cop x \neq \frac{1}{12} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4}$
So $e^{-x/42} = cop x \neq \frac{1}{12} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{4} ||^{$